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=] SMEL 884 PAR:72 =7 SMER T4 PAR:72 HS5URL—FHE SMER 274 PAR:72
JEfGZ  NET iE A B PHC 1R (OUT/IN) JEGZ  NET HiE R 7l B PHC 1R (OUT/IN) JEGZ NET BEA 2l B PHC 1R (OUT/IN)
1 74 BX BE ®BEF 23 97 (51/46) 1 77 %H XE £F 16 93 (48/45) 1 0 =1 A mHEx 9 79 (43/36)
2 76 B FH HEETF 13 89 (48/41) 2 77 =8 g &F 10 87 (42/45) 2 72 KB —1& ®EHEL 12 84 (45/39)
3 83 =@ 55 ®EF 12 95 (50/45) 3 78 INE EE LR 7 85 (46/39) 3 73 KEH T —a—8x 7 80 (37/43)
4 83 Tk BhiE  ®Bo 31 114 (54/60) 4 78 it T EREL 9 87 (40/47) 4 74 INE E— &= 7 81 (41/40)
5 87 EiE BE EE 36 123 (61/62) 5 79 *H EBl  =—a—8% 7 86 (41/45) 5 74 % ER n—XFUKR 6 80 (39/41)
6 89 LIl BEl =& 9 98 (54/44) 6 80 1k BE  KRIN-HF 3 83 (41/42) 6 75 BEE ER  BERE 12 87 (44/43)
7 89 HiE = ZHEER 17 106 (57/49) 7 83 LI 25 @mEHEt 8 91 (45/46) 7 76 EX EE n—X3uK 3 79 (40/39)
8 90 ki T -—#4 27 117 (61/56) Ri5 B =E B 19 8 76 {Emk BhgE T 24 100 (48/52)
9 77 BH gR Erh#H 7 84 (42/42)
10 78 Rk E® IR 8 86 (47/39)
11 78 EZA T8 =mEE 7 85 (45/40)
12 78 EIF9ET —fE  —a—8x 10 88 (45/43)
13 79 INE EE BEANASUR 7 86 (48/38)
14 79 &M EE BEHEL 9 88 (47/41)
15 79 =i FERER —H 10 89 (46/43)
16 79 BEAR RER  J\IBE 3 82 (41/41)
17 81 IJ|A =i = 81 (43/38)
18 81 FRE BE  /UEE 10 91 (46/45)
19 81 Rk E£EX BEW 6 87 (43/44)
20 82 E£Hh ER EREL -1 81 (44/37)
21 82 BFE %=HE /\IBFE 11 93 (47/46)
22 83 =15 HiOATF 4 87 (48/39)
23 83 {E<”K EM =EE 6 89 (46/43)
24 83 WMF EiFE @EHEL 8 91 (45/46)
25 83 #K FH EHEL 7 90 (43/47)
26 85 At & =& 9 94 (46/48)
27 88 /IMNER E @iEt 12 100 (50/50)
Ri5 1% EEx B 2
LT4—R BIMEH: 238 PAR:72 — e BMEH 208 PAR:T2 K15 BEE BHE —/& 9
IBRE  NET BRER OB PHC 1R (OUT/IN) EGE  NET BRES B PHC 1R (OUT/IN) €] ki e  AF 11
1 70 Rt R EEEL 9 79 (38/41) 1 70 HMA EA ®EHETL 19 89 (46/43)
2 70 FK EHMF  BANASUR 8 78 (38/40) 2 72 S Rt mHET 12 84 (41/43)
3 72 NHA #MHE EEHmEL 9 81 (42/39) 3 74 1R BE— EME 7 81 (40/41)
4 13 B 92 BF 12 85 (43/42) 4 75 MR 2E @mEHEtL 12 87 (46/41)
5 75 il B BRANASUR 14 89 (45/44) 5 75 #tE FMA  BRANASUF 8 83 (40/43)
6 75 EK IE¥ BA—X5 K 15 90 (45/45) 6 76 Fith #e =M 7 83 (44/39)
7 76 %H H¥F  mEE 17 93 (47/46) 7 77 R B AF 15 92 (49/43)
8 77 BE xE BF 19 96 (49/47) 8 77 & = o—X5 K 7 84 (44/40)
9 77 BEIR HBEF  /\EE 9 86 (41/45) 9 77 K& A BO—XSuFR 8 85 (44/41)
10 77 {Fik =R @EfEx 16 93 (45/48) 10 78 BRE S EHEL 7 85 (41/44)
11 77 kB B¥F EF 15 92 (42/50) 11 80 i1t A RHER 6 86 (43/43)
12 78 &1l BE5 &F 9 87 (43/44) 12 80 %R X7 KRUN-HAN 6 86 (42/44)
13 78 XKEH EF O—XFUF 7 85 (42/43) 13 81 F&# o OEmE 5 86 (47/39)
14 80 HkMH EfE  BENASUF 10 90 (47/43) 14 83 #E B3 AKRYN =4 7 90 (47/43)
15 80 BH# EFF A—XFUF 20 100 (51/49) 15 83 EE #Ef BT 11 94 (47/47)
16 80 H=E 5F mHEL 15 95 (46/49) 16 83 K#f iR A—XSUk 9 92 (45/47)
17 82 BB FmMF ®EHsEt 13 95 (49/46) 17 83 W BE¥ Za—-8x 9 92 (42/50)
18 82 EKi5 BE BENASUR 12 94 (46/48) 18 87 1Rk T RHER 8 95 (50/45)
19 82 IhNE HrhH I\IEFE 14 96 (45/51) 19 88 /INER FH E= 6 94 (52/42)
20 83 HFith BHAF EE -1 82 (42/40) 20 92 EE H— ®mETF 11 103 (57/46)
21 84 Fith E TN T 14 98 (52/46) Ri5 IMNRH E— B—X3 K 13
22 86 #fL ZF 0—X5UK 17 103 (54/49)
23 91 EHE B  BENASUF 21 112 (59/53)




